Disequazioni algebriche

Analisi
risolvere le seguenti disequazioni algebriche
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Anlisi Disequazioni algebriche
2—x X 1
. x=1_ 73 l-7 2x-1 x—3 S 3
R S S U S g
3 2 2%v3 1
1, 54 6

16 Ex (3+2 )x<3x+l x> —=

47 T A=—2DT1737 T3 5

1

x2-2 x=1-5@x-DC2x+1) 4  2x-1

17 — <=-x%- impossibile

4

N =

18 | (x—3)x+1)2x+3)>0

3 3

3
—E<x<—1Vx>3

(x—2)5x+1)
(x+1)

19

1
—1<x<—§Vx>2

B—x)4x—-1)
2x(4x — 3)

20

’ (4x—-3)2x—1)

0< <1V3< <3
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3 5 1
- <x<-=-V0<<x<-=

3x(6x —5) 4 6 2
2-H(x+1 1 2
, | XM )20 —<x<-V-2<x<-1vx>2
(2 - 3%)(1 - 3x) 3 3
1
23 | |-2+5x|<3 —§<x<1
5
24 | |3x —4|>1 x<1Vx>§
2 <3
1 5
s | [2x—1] 1 2
x<ZVx>o
3 >1
1
6 | 12x+1] —2<x<1Ax¢—E
x—1
|2x—T <2 7
27 ——<x<1
5
28 X 1<3 16< <20
273l 377773
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Disequazioni algebriche

Analisi

o P22 Mo, e x<EAxz0
2x 4 7 5% SghtX
x—4

30 | > 2 —B8<x<0Ax+* -2
x+2
x+3 3

31 | |—1so x<—2
X 2
2x—1 -1 1

32 x X | — 0<x<1

x+1 2+2x 2

33

4x—-—4 1—x

2

2x—1 3 | 1

>9/\¢1
x A

34

35

[2x| — 4

<4
|x]

[x—2] -1
<2

2— x|+ |x—1]

Vx €ER

—5<x<5

2lx| — 1 1 1
36  ———>0 -1<x<--Vvz-<x<l1
1—|—x| 2
1
37 x—=2|+|x+3|-2|x+1|—-2x>2 x<Z
5 11
38 | 2lx—1|—-|x—-2|—|x+3|+2]x—4]>0 x<EVx>7
1
39 |2x—Ix—2]| <1 3<x<1

40

|x =3 —|2x]| > 4

1
<—-=vx>1
x 3 x

2x + |x — 1|
41 | — x <1
2x — 2
24+ x| 1
42 — Vx €R
34+ x| 4
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Disequazioni algebriche

Analisi
43 ilk:il 1 0< <2 >2 !

p x<zVx Ax # 5
. |x—1|—x+3>0 >4

|x| + 2x — 4 X3

X x—1
46 < x<3+\/§

1445 1-4/5 6

VEx+1_ 2V5+x 9-4V5
47 > x =

V-1  2V5+1 11

2 h—

48 (x+\/a)2<(x+\/3) —Zx(\/a+\/3)cona,b>0,a>b x>%

-1++v2 1
49 u—<_ —V2<x<0

x\2

1—x 1 1-+3
50 > —

2-x V3 x < Vx>2

X x—1 2

51

+ <3
x—1 x+1 xz2 -1

x<-3V-1<x<1lvx>2

52

(1-3x)1+x2+2x)(x —2x?) <0

1 1
x<0V-<x<=-Ax=+-1

3 2
x—(1+x?) 2 —x? V541 V5-1
5 I _
2 +1> > 3 <x< 5
- 2 27
54 x_1+2x_(2+x)(2 x)<i 24+x <27
3 5 15 5 5
2 _ 2
55 | X 9+1+x 21(x+4+2x2) impossibile
6 3 2
4
56 | (1+4x)[4x? — (1 -2x)?]+3<2(x+1)+2x(3 —x) 0<x<§
x+2 x—2 2
57 x <2

+ >
x24+2 x3-2x242x—-4" x-2
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Anlisi Disequazioni algebriche

58 2 x+1 x_3>0 b<x<—lv_3<x<i
- - —4<x<—-—=V-3<x<
x24+7x+12 x+3 x+4" 2

2

5 X < 2—x +3 x;t—E
2x+1 4x?2+4x+1
2 1 -3 2 3
o X Fx+tl X >x+ Z<x<V3+1vi—-V3<x<1
2x2—-5x+3 2x—3 x-—-1 2
2
X x—2 x+2 1
61 + — >0 x<—zVvV0<x<l1
1+x—2x2 x—-1 2x+1 2
x+2 x—1 2
62 - < —V2-1<x<+v2-1

2x+1 4x2—4x+17" 1—4x2

2 2

x“+2 x“—3

63 > — x<—V2vx>+2
xz2 -3 x2+3

6t | (V2 - 1)x>( +\/_)x —V2<x<0vx>V2
x+2 2x+1 1
65 < x<—-1v=<x<1lvx>2
2—x 2x-1 2
o 1+(x+2)(x+1) 3x+1<0 11< -1
= — ——<x
2 x—1 3 25
x2+1 x+1 2 1
67 - > -<x<2vx<-1
3 _2x2 x?2-2x x-2 2
2 4
w X X 1_ 3 < 1+x ‘>3
3 -27 x—3 x24+3x+9
x—3 x—2 x%—12
69 + > —B3<x<-2vx=>1
x2+3x+2 x?2+4x+3 x3+6x2+11x+6
x+1 x+2 x% -3
70 + > —2<x<-1vx>2
x2+x—2 x2—-3x+2 x*—-2x3-3x2+8x—-4
) 1 4
71 3x*—5x—1+4+3x—-1x+1)=0 x-S Vxzg
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Analisi

Disequazioni algebriche

72

x2—3x—4<2x—1 x+2
x2+x—6 x—2 x+3

5
—3<x<—§Vx>2

73

74

75

(x3 —27)(x* = 5x + 6)(3x — x?)

<0
(x2+3)(x3 — 6x2 +12x — 8)

(x —5)3(6x3 — 5x2)(4 + x®)(x® — 3x)?(x? — 5x3)

>0
(x2 = 2x —8)(—3x + x2)?(—x + x%2 + 8)

x—1<+2x%2—-x-1

x<0vx>3

1 5
x<—2v§<x<gv4<x<5

1
<--vx>1
x 2 x

4 —x2 2v6 2v6
76 x2>2 —\/§<x<—iv£x3\/§
3—x 3 3
3+1
77 Nx2+2x+5<3x—-1 x>\/_2+

78

(x% +5x)(2 + x —V3x2 + 6x) -
(=27 +x3)(2x —x2)(x2 +3) —

—S5<x<-3v0<x<1vx>2vx=-2

79 | 3—x®—|—x+x%>0 —1<x<;
1-4 Vx2 + 4
80 Xt vxt <0 >i5(JH+4)
1—x+Vx2+x+2 !
o1 (VZxZ—x—x+1)(x2—9)(2—x2+x)>0 —4<x<—1
(x3+64) (x*-81)(x—-2)
5 3 ve V6
82 = 1 4
x*—2x2+1 x4—x2_0 ST YRR
—2+V2x2+3 V
g3 | X HVexT+ <0 —2-V5<x<-2
x?—4
2x—2)+4(1—x)—x+1 1
84 -<x<4
2x +4(2 —x) — 3(4 — x) 3

85

2x —3x)(x3+8)(x* —=5x+6)
(x2 —=2x+ 1)(x3 +12x — 8 — 6x2)

2
x<—2v0<x<§Vx>3
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Analisi

Disequazioni algebriche

86

2|lx —3|+3x—4>0

x> -2

87

|2x — 5x2| < 2 + 3x?

1—VE< V5+1

<

88

VIx2—=1l<2—x

5
x<—1v1<x<Z

5
89 | /2 <./|3 — 2x] x>
8
9% |14 3x| <V1-—2x —g<x<0
91 \/3+x<|1+x| —3<x<-2vx>1

92

JIx2—-1<1—-x

x < -1

93

2+x >0
3—VxZ+1

x<=2V2v-2<x<2V2

94

3lx+1 <2
x2+2

Vx €R

95

96

97

313+ x < -1

2 — x?

3 (x4 + x3

—1—-x>0

x—1

313 —2x

/ <3\/2x
x—3

1—-+21
\/_<x<—\/§v\/§<x<

1++/21
2

1-+/5 1++5

Vi<x<

-1<x<

2—+10 2++V10
> <x< > vx>3

98

x2—1> 3
x2 —4 x+2

x> 2

99

100
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